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2N 888
HM: QIAZSAH(EAT)
Sl RIAZA Y BM=X N CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-2 Al 3 30,000 = 28Y = 23| 1,680
OFUXXHEEH S &2 AIEE
7,000€ * 9 * 12€ 756
OXEYEHZ XN 8,000,000& 8,000
OF£D| &dx= 50,000 = 204 ~ 12&€ 1,200
02 53294l 1,000 1,000 0
OFUXXMEH MBS EH S22l
500,000& * 204 4 1,000
301 et A= 2,500 2,000 500
12 JIEtE2 &2 2,500 2,000 500
OF0IXX XOHZEAH WEs 242 2,500,000 2,500
ScletdEs XA 165,230 165,230 0
301 dBEtE A= 165,230 165,230 0
055 SH -0/& - BtEEEEAZ 165,230 165,230 0
Oool&4 150,880
-Jlgsg 200,000& * 469¥H = 12&€ 110,400
-&0 2 200,000& * 46¥ x 23| 18,400
SRR
20,000& = 46Y * 23| ~ 12& 22,080
OBt&agE AZ 50,000 = 2879¥H x 13| 14,350
e & 9,580 9,580 0
301 et A= 9,580 9,580 0
04 Xt HHUHAH XA 9,580 9,580 0
OXsdyHla=22 9,580
-0kA! | 3,000& * 49 = 1JHOH = 3652 4,380
-2% 2 4ery| 100,000 = 1JHCH = 12& 1,200
EPNE= RNl 4,000,000 * 1JHCH 4,000
SSAIE SR 2 133,771 156,012 N22,241
101 2124 d| 28,147 23,278 4,869
04 JIZtHI2E2E NS E 28,147 23,278 4,869
O33Ad&e o8 6,012
=0 66,800& * 1% » 90 6,012
OSE AN 2l o2Y 17,796
-20 66,800 * 1H x 240 16,032
-AMEEE Jl2a8HE=2 16,032,000& * 11% 1,764
Osses RHEE MxogY 4,339
=20 141,500 * 30 * 13 4,245
-lE(MH)EE= 4,245, 000& * 2.204% 94
201 2yt 2 Y| 104,924 91,674 13,250
01 At 22l ] 12,640 12,640 0




2N 248
HH: DASAHSHES)
C: QASA Y FHER X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OxZAILetEMEZ & Hl  250,000& = 128 3,000
OsUHSAE 2285 2
50,000& = 10& 23] 1,000
O#AME Jt27] MZ  8,000& » 58 15004 6,000
OFJIGAZR| &+42 100,008 * 122 1,200
OF4I 22l o Yol Yl
120,000& * 12& 1,440
02 2324l 92,284 79,034 13,250
Oz&22= & HA 42,874
-8 =Ee3 2,600,000 * 12& 31,200
-EAMES & FAXR3S 100,000& » 12& 1,200
-HaS=AIE IS
60,000& * 2JH 4 * 12& 1,440
“NEMNSE 23 600,000& = 12& 7,200
-SIMNERE S 100,000& * 23] 200
-gretzel At g2l sl 50,000& = 13l 50
—SELSAER 42,0008 « 128 504
“EA R HAEZE EFHE
180,000& * 24 * 33 1,080
O =ZHl 9,240
LY EH| 11,0003 = 8AIZE = 1052 9,240
OAIZ2 ZHl |X2cldl 27,860
-A2KXBI(1,859m") 4,500,000& 4,500
-OtEU=2 st&EY 1,800,000 1,800
-Hla S AL 1,500,000& * 200 £ 3,000
-H=E oI 100,000& * 504 500
-H&Z&H X2l 190,000& * 240K 4,560
-HAS2ZE 270,000 * 5004 & 13,500
OXt& & Bl 5,350
-A~ 832, A8SER 2,605,000& = 2CH 5,210
A= 70,000& * 23l 140
OSelZHIAIAE 525,000& = 12& 6,300
OSIHE SSTA HIAHAALY AESRB
55,000& = 12& 660
405 TtabH S| 700 17,400 A 16,700
01 et EFFHSHI 700 17,400 216,700
OXAE Mo RA(MEE )
500,000& * 1K 500
OXJEE X 7 200,000& = 14 200
NoiAE 2 HE AN X2 1,200 1,200 0
201 2et24d] 1,200 1,200 0
01 At 2teltl 1,200 1,200 0




2N 848
HH: DASAHSHES)
Sl RIAZA Y BM=X N (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXZABEHE M 2 & =
20,0003 = 15H « 43| 1,200
SHARZALFTE(BHS) 207,618 704,713 A 497,095
A2AEAHEFA 207,618 704,713 A 497,095
DIRoHE ¥ A2 A 98,898 550, 188 A 451,290
101 @124l 8,898 0 8,898
M4 JI2ZHZEXNSES 8,898 0 8,898
OELE S4d IJHRI| AR 8,898
-= 66,800& * 1€ = 120 8,016
-ALRIEE JI2RE S 8,016,000& = 11% 882
201 £B-2%H| 10,000 0 10,000
01 At 22l 10,000 0 10,000
OEX0E HBAAE(D-DAS) ==
10,000, 000& 10,000
401 Al & Bl & 28I 80,000 550, 188 A 470,188
01 A& Hl 55,000 530,000 A 475,000
OAREAIE XNE & E&&9Hl 5,000,000& 5,000
OEZ2 S ANE RXNE=H| 50,000, 000& 50,000
03 Al 20 HI 25,000 20,188 4,812
Otz ¥ st&&Eul &ul dX= 20,000,000 20,000
ON&EH gtz 4,000,000& 4,000
O2=Jl & £ =cltl 1,000, 000& 1,000
Z2LIHAY 28,720 44,525 A 15,805
201 LB-2dH| 1,000 1,500 A 500
01 At 22/l 1,000 1,500 A 500
Oooutstz 84d JtRJI 837¢
1,000,000& 1,000
206 M= Hl 14,720 18,000 A 3,280
01 =8l 14,720 18,000 A 3,280
OOtEtte SHAINRIIAY BSXU 11,720
-ZMN 2 3,860,000& * 28 7,720
28 3¢ 4,000,000& 4,000
Ootst2 s4dd Jit3J Mg +4
3,000,000& 3,000
401 Al& Bl 28I 13,000 17,000 A 4,000
01 A& HI 9,000 9,000 0
Ootst2 84d IJHRI| M==dY
3,000,000& = 33| 9,000
03 Al R THHI 4,000 8,000 A 4,000
Ootgte 84&a JiRJ| EHYXs
500,000& = 8¢ 4,000
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SN HH-S(BN) - MBAY - B il HlnE2
== QL& Ofl AF 80,000 110,000 A 30,000
401 Al I 2 O8I 80,000 110,000 230,000
01 A& Bl 80,000 110,000 A 30,000
SES 22U S3IZ2AME2 uA
30,000,000& 30,000
Osstz B4 =9 FelMey 20,000,000& 20,000
OSET Z&X AT FUIAY
30,000, 000& 30,000
HY2ABH(SHES) 152,824 146,304 6,520
=2ddl(84s8) 152,824 146,304 6,520
Jl23Hl 152,824 146,304 6,520
201 £B-2%| 76,264 72,484 3,780
01 At 22l 51,970 49,590 2,380
Ogax+g(eg=8tl) 14,460,000 14,460
Oget=&H| 8,700,000 8,700
O=&Hl 8,290,000& 8,290
OSAMIl & =80 Stz
200,000& = 208 ~ 12& 4,800
OdEEH ABF FH| 15,720
-ZHZelH 8,800
- EY 440,000 = 2CH * 48 = 23| 7,040
cd 440,000 * 2CH = 23 1,760
-otIel 200,000& = 1404 = 23l 5,600
“2AIN(EH € =¥)
200,000& = 1CH = 33 600
—FAX 120,000& = 200 = 33l 720
02 3323l 24,294 22,894 1,400
03322 2 HA(RER22) 20,000,000& 20,000
OdHZFEH KA =Hl 4,294
-GS AR D121 1,300,000& * 26CH * 5% 1,690
-Zelg 4,000,000& = 1600 = 2% 1,280
- AHJ| 15,000,000& * 1CH * 2% 300
—-FAX 600,000&  2CH = 2% 24
—-CCTV G & &I 2,000,000& = 10CH * 5% 1,000
202 Oddl 64,800 62,100 2,700
02 M0 64,800 62,100 2,700
O HOHI 225,000 * 2494 » 12& 64,800
203 YR =&t 11,760 11,720 40
01 JI22L =4 6,600 6,600 0
o8& 550,000& = 123 6,600
02 AP 2= 960 920 40
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